Parts Information:
Compressor 24ltr Super Quiet 0.5hp

Model No: SSQC2405P

,Elﬂ? §

g C 038 C0048 _ .‘-\
B C00439 CO567-
€2369 C0569
CO568>:| l 0568
0164 i ok o C0538 COO .
EC0209 | e s
—— !
—

——— T“‘I C0626
[230v1C021 0097 __ C0392
AY ﬁ !
/
N 4
02371 o Cj}lg
b C0522
| 4—/ ™ \c172310
c1862 C0188 +C0388
C0034
Co160 ——T—
Item Part No. Description Item Part No. Description
C0034 | SSQC.C0034 CABLE RELIEF C0286 | SSQC.C0286 WASHER 8.5x15
C0046 | SSQC.C0046 NON RETURN VALVE M-F 1/8" C0334 | SSQC.C0334 DISTRIBUTION FRAME"L" M-F 1/8
C0051 SSQC.C0051 RILSAN HOSE 04/6 C0339 | SSQC.C0339 RISLAN HOSE D8X6
C0081 SSQC.C0081 HANDLE C0354 | SSQC.C0354 DRAIN VALVE 1/4 90deg
C0082 | SSQC.C0082 PRESSURE SWITCH 20Amp C0517 SSQC.C0517 TANK PLUG M1"
C0083 | SSQC.C0083 CONNECTION M 1/4 L=80 C0522 | SSQC.C0522 SEALING ALUMINIUM WASHER 1"
C0088 | SSQC.C0088 P.GAUGE 040 1/8 10 BAR C0567 | SSQC.C0567 NIPPLE 1/8"
C0089 | SSQC.C0089 NIPPLE 1/4" L=95 C0568 | SSQC.C0568 SCREW M5X5 UNI7687
C0091 SSQC.C0091 ELECTRIC CABLE MM 500 C0569 | SSQC.C0569 WASHER NYLON 5x10
C0092 | SSQC.C0092 "T" CONNECTION F-F-M 1/4" C109407 | SSQC.C109407 TANK 24ltr
cot4 SN8.S STEEL NUT M8 ZINC DIN934 (SINGLE) C1776 SSQC.C1776 FLEX PIPE
C0133 MC3CX0.75 MAINS CABLE BLK, 3 CORE, 0.75 MM2 C1862 SSQC.C1862 RUBBER SUPPORT
Co164 SSQC.C0164 FILTER REGULATOR 1/4" C1965 SSQC.C1965 VALVE
C022207 | SSQC.C022207 MOTOR (230V) C2369 | SSQC.C2369 TAP

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10f 2 SSQC2405P Issue 2 PL 18/12/17




Parts Information:
EA LE Compressor 24ltr Super Quiet 0.5hp
Model No: SSQC2405P

CO01154 CO116 con

- CO111 23m

C0106
C0126

Item Part No. Description Item Part No. Description
C0037 | SCB620.S SOCKET CAP BOLT ZINC M6X20 C0305 | SSQC.C0305 KIT TERMINAL BOX (230V)
C0106 | SSQC.C0106 SPACER C0323 | SSQC.C0323 INTAKE VALVE

C0109 | SSQC.C0109 CAPACITOR BRACKET C0324 | SSQC.C0324 EXHAUST VALVE

com | ssQc.com OVERLOAD PROTECTOR T2134A(230V) C048107 | SSQC.C048107 MOTOR COVER

C012 | SSQC.co112 START RELAY T21(230V) C0513 | SSQC.C0513 NUT WITH WASHER

C0113 | SSQC.co113 SCREW C0567 | SSQC.C0567 NIPPLE 1/8"

C0115 | SSQC.CO115 CYLINDER GASKET C0199 | SSQC.C1099 OIL LEVEL GLASS

C0116 | SSQC.C0116 VALVE PLATE (c/w VALVE) C1205 | SSQC.C1205 O-RING

Cconz | ssQc.cotz HEAD GASKET C1235 | SSQC.C1235 KIT VALVE PLATE+GASKET
C0118 | SSQC.CO118 OIL PLUG 3/8+O'RING C1794 | SSQC.C1794 KIT INTAKE FILTER

C0126 | SSQC.C0126 RUBBER GROMMET C2083 | SSQC.C2083 CAPACITOR

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 2 of 2 SSQC2405P Issue 2 PL 18/12/17




